Math 3210 Tutorial 4

Example 1: Consider the set y < —x?, try to show that any point on the closure
IS an extreme point

Again, it is easier to prove its contrapositive
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Potential method in finding/ improving basic solution

Step 1: Solve for a feasible solution A;x; + -+ Ayx, = B
Step 2: Solve for no trivial solution among o;A; + -+ a,A, =0
Step 3: combine the two equation to cancel out a particular variables

Example 2: Try to find a basic solution for the following system
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More on basic solution and extreme

points

Basic criteria for finding a basic solution for it to correspond to an extreme
point:
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Example 3:

Stepl: Find g feqsible %t
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Some important reminder:

Example 4:
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	More on basic solution and extreme points

